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(iv)

(v)

(vi)
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TvT G 21 G 28 7% FE G953k H & | H @ T 79T %7 3T 100 Vst @
14 T F81 &1 =T |

TvT GEIT 29 X 30 3AETT R T & AT ared 79 3-3 dH FHE | 5% [/ A &
&5, T P STR-GITahT & 3153 78T Y 7T |

General Instructions :

(i)  The question paper has 30 questions in all. All questions are compulsory.

(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 8 are Very Short Answer Questions. Each
question carries 1 mark.

(iv) Questions from serial number 9 to 20 are 3 marks questions. Answers of these
questions should not exceed 80 words each.

(v) Questions from serial number 21 to 28 are 5 marks questions. Answers of these
questions should not exceed 100 words each.

(vi) Question number 29 and 30 are map questions of 3 marks each from History and
Geography both. After completion, attach the maps inside your answer-book.

1. 1815 =t faamr €Y & Ji=g 3299 -1 o7 1

YT

It §RT foRraeTg o “2ifeh W Thel” WietH 1 g7 3299 -7 T 2
What was the main aim of Treaty of Vienna 1815 ?

OR

What was the main aim to establish Tonkin Free School in Vietnam by French ?

2. JcAE wie 7a%h &3 i g AW Hy el 2 1

How did the Bailadila Iron ore field get its name ?

3. foa Fror 4§ fafi= seqatt o Feaad dieet sAR 0gd | SUeT € 2 1

Due to which reason the latest models of different items are available within our reach ?

4. AT 3T SAHSH & AT S WA F T55F N €, W] JHASR Haet A da F ThRal
T | T At | fashar gRT R SUMieRTT 1R T Sowter o T & 2 1

If you are not interested to buy a brush with tooth-paste but shopkeeper denied to sell

tooth-paste only. In this case which consumer right is being violated by the seller ?
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10.

11.

12.

a7 TR & fed THel 3 ST M= % fod THel § 3T) iy |

Differentiate between ‘Sectional interest groups’ and ‘Public interest groups’.

TSheE oA STk ST Sl ARl SHaeT § <] -1 =8l JHT STl & 2

Why is one party political system not considered a good democratic system ?

JHIS TS HREHIRE! BRIl THIATEST thed¥ i J&T 3299 fafa@u |

State the main aim of Backward and Minority Communities Employees Federation.

TUTERT % U STYa BiH o [oTT 319 T & ST W i TT A (I3 FeesT) 3w =t 2

Which logo will you like to see on gold jewellery to be sure of its quality ?

T e el Sl STUROT TRl o {10 fohE TR Heweyul & 2 370 foeR a4e it |

How is the concept of Self Help Groups important for poor people ? Give your view

point.

FifeAtaar H ST o Fsiiehor & fodg Fod &1 Aged fhae o 2 39 Ted g1 fojiy & forw

SIYTT T LT T U HISTT | 1+2=

Who led the protest against water privatization in Bolivia ? Describe the ways of

protest adopted by that organization.

eIt g1 fhe @ed & ? WRAE Sl 9t @ faarerr & Rl Q fasget @ Seo

HINSAT | 1+2=

What is a political party ? State any two points of the ideology of Bhartiya Janta Party.

“URA AR T T TEwau] AIel-38Td 3cAIEeh <91 & a2y 1 319 qof Wureg 1 foehra et
FATCE 1 JoT G Taehra I & fell ig i ST YT 31X ST AR it |

“India is an important iron and steel producing country in the world. Yet we are not

able to perform to our full potential.” Suggest and explain any three measures to get
full potential.

3

3

3
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13.  “AIH0T AT Soll o TATEAT o SUINT i A SEATAHaT & |7 SUIHT Tohi Ared 30 HU
AEHT Y | 3x1=3

“There is a pressing need to use renewable energy resources.” Justify the statement

with suitable arguments.

14, SE T STh! W YR & 3MER W ailichd T | J U R A FA UpR =€ 2142 =3

Classify industries on the basis of their main role. How are they different from each other ?

15.  ST& WEAA HHPHE IR YgaT af 3 W A0 aad Se’ & AR 9 {6 mn | Rt
T T AATHAT & 98T H Tk [T | 3

Simon Commission was greeted with slogan ‘Go back Simon’ at arrival in India.

Support this reaction of Indians with arguments.

16. fat= | Tgg Afema e SAReH ¥ =1 S8 2 T HINT | 3

Why did the different social groups join the Civil Disobedience Movement ? Explain.

17.  “cliehditeh TN a8’ | STREET Th o ©F H STHT Sl & 1 dohl |igd 36 HaT &l
itz i | 3x1=3

“Democratic governments in practice are known as accountable.” Support the

statement with arguments.

18. AN SR fohd YehY UREfad &1 70 & ? ISR Gied T hifsU | 3x1=3

How have our markets been transformed ? Explain with examples.

19. foRer =R g Uehr fafi= 220 o ST ol SiisaT & 2 S0l Jgd W T | 3x1=3

How does foreign trade integrate the markets of different countries ? Explain with

examples.
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20. “TT H MERedl AR IFel A % SR TP ¥ AgAR F foabg § Hewqor qiHeH
g 1 3eTeReT wfed wue i gfte HT | 3x1=3
rera
“ShITT  foaerT 7 form 6 9ueE ® g B o fold i adieh oA 1 3eTeRe
Tfed Fo = gt FHIT |

“Culture had played an important role in the development of nationalism in Europe
during eighteenth and nineteenth centuries.” Support the statement with examples.

OR

“French tried to solve educational problems in Vietnam in different ways.” Support the
statement with examples.

21. RSO §RT SE WEAT | SIS IR SR LIl o THE U=T I T WG TS H a0
T | 5x1=5

Describe the major problems created by the globalization for a large number of small
producers and workers.

22.  ITHEIN JEiel ohe TehTL UTHIOT &5 | thell AT 9 T it | 5x1=5

How had Non-Cooperation Movement spread to countryside ? Explain.

23. YR % IT-YAT A1 H 9 uRae 31k ARt a9 € 2 SRt HiT | 5x1=5

Why is air travel more popular in the North-Eastern states of India ? Explain.

24, SEUEE HHHAT B RE T ORI U U IR TRl TG A H U= e aret
Tl UTe HRehT T FU HIT | 5x1=5

Describe any five factors that promote the Multinational Corporations (MNCs) to set-
up their production units in a particular place.

25. ST el aeT Sk Aarell s GURA o fou fafi=T geenstt Ry fw u, el 3t gemd
HIMEAT ht TG HIST | 2h +2V5 =5

Examine any two institutional amendments made by different institutions to reform
political parties and their leaders.
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26. “TRU H G GG F A AATE qh TS BT SEIART SIRAGT SIHAAD TTd T
TET @1 ST G816 GUH AT H o7 | 36 HAT B IS0 Wied [oeeduur ity | 5x1=5

YT

“1960 & 391 | foaaam™m 9 3G ! gl o -9 HERI & ®9 F U1 fohar T 17 39
FHUT T TR0 A 9o HifeT |

“Nationalism no longer retained its idealistic liberal democratic sentiment by the last

quarter of the nineteenth century in Europe.” Analyse the statement with examples.
OR

“Women were represented as warriors as well as workers in Vietnam in the 1960s.”

Analyse the statement with examples.

27.  “@FST FAR SiaA % STHa 9T € 17 33RO Gfed e i g HT | 5x1=5

“Minerals are indispensible part of our lives.” Support the statement with examples.

28.  “Arhdlrseh I SHeTd 3TTeh STAAMATS ol HH i | 31T4eh el [$EmE Jel ggdi & 17
T I faveAToT HIfT | 5%x1=5

“Democracies are not appearing to be very successful in reducing economic

inequalities.” Analyse the statement.

29. 9 &I — (A), (B) 3 (C) R % T Ta-AFras H 3ifehd fhT T & | 37 TIe307 ot
freforfaa SR sl Teradl ¥ TEeHU 3] S Tal AF AFfes § 3ifehd &l T8 W@
fetfay 3x1=3
(A) T T ST YR ST HiU 1 A9 g T |

(B) & T ST “HT A 3 I I I gl T |

(C) =& T ST [ha T = HATE ol IS [har o7 |
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30.

Three features (A), (B) and (C) are marked on the given political outline map of India.
Identify these features with the help of the following information and write their

correct names on the lines marked in the map :

(A) The place where the Indian National Congress Session was held.

(B) The place where the ‘No Tax Campaign’ was started.

(C) The place where peasants organized a Satyagraha.

e : Fr=fefad e Faet gieartia aderntoat & o e Jem 29 % ©H W E

(29.1) 39 TIF H1 AW fAfay, STt faam=r 1920 T IR T T 1 AT got o |

(29.2) 39 WM H A4 fAMGE, ST T A I T ST Y 3T 7T |

(29.3) ToRIA  fREET A fhE w W Geamrg fohar ar 9

Note : The following questions are for the Visually Impaired candidates only, in
lieu of Q. No. 29 :

(29.1) Name the place where the Indian National Congress Session was held in

September, 1920.
(29.2) Name the place where ‘No Tax Campaign’ was started.

(29.3) At which place did the peasants organize Satyagraha in Gujarat ?

IRA & {0 T TSHITes {@-aFesT § FEfaiad o Suga et 3 S9IEy iR 3% 91

ferfa - 3x1=3
(A) 3TOTfeeh el T S IGREE]

(B) T & S WA LGl

(C) v TS o S

On the given political outline map of India locate and label the following with

appropriate symbols :

(A) Nuclear Power Plant - Kalpakkam
(B) [Iron and Steel Plant - Rourkela
(C) Major Sea Port - Kandla
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32/2/2

Ate ; TAfAEd Te hae geaTed aeterat & o 7o T 30 & TH WE

(30.1)
(30.2)
(30.3)

Note :

(30.1)
(30.2)
(30.3)

THOTUSRH TR STl T fohy To o feore & 2
I T I AW TANGT ST T3Tohell olie] o S8Td 997 e & |

HEA T ThE de I fera & 9

The following questions are for the Visually Impaired Candidates only, in
lieu of Q. No. 30 :

In which state is Kalpakkam Nuclear Power Plant located ?
Name the state where Rourkela Iron and Steel Plant is located.

On which coast is ‘Kandla’ port located ?



TRA . 29 o fTT AR
Map for Q. No. 29
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Outline Map of India (Political)
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U . 30 & foT A
Map for Q. No. 30

WA T F@T-UFRE (TsHifas)
Outline Map of India (Political)
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